i goa gfeeaT QUESTION
Lo BOOKLET C
1

| CODE

A TSR GOVERNMENT OF INDIA
HaRer fasmT DEPARTMENT OF SPACE
WA HARET AU F15A INDIAN SPACE RESEARCH ORGANISATION
&a aArget gome g LIQUID PROPULSION SYSTEMS CENTRE
aferaa e, fa¥adRA VALIAMALA, THIRUVANANTHAPURAM - 695 547

BEHA ‘T & 95 T4 2q fafed ader
WRITTEN TEST FOR SELECTION TO THE POST OF FIREMAN ‘A’

faf@a alterr $r I @/DATE OF WRITTEN TEST :© 01.06.2013

HT/TIME . : 1030 HRS. TO 1200 HRS
IR & fav WT/INSTRUCTIONS TO THE CANDIDATES

I.Wﬁ@mayxmﬁﬁmmﬂﬁﬁqmgﬁ%ﬂammmm

Me A T 0 el # Cae F geAT ATRTI/CANDIDATES SHOULD READ

CAREFULLY THE INSTRUCTIONS IN THE QUESTION BOOKLET AND OMR
ANSWER SHEET BEFORE THEY START ANSWERING.

INTAIR ek M F el & 3had o= & AT Faa afad Nge 9T F7 &

SEIATAT HYI/USE ONLY BALL POINT PEN FOR MARKING ANSWERS IN THE
OMR ANSWER SHEET.

3. Heafdat &7 ger g & 3e HelFelcy, HESd B, Teds, SaFgias

ATIAT Scarfe 390 O1Y F&T o ST IMRUI/CANDIDATES SHOULD NOT

CARRY WITH THEM CALCULATORS, MOBILE PHONES, BOOKS, ELECTRONIC
ITEMS ETC. INSIDE THE EXAMINATION HALL.

4. ZHH $ o T B, IAF N F AU s 3w HuiRa ¥ Ted 3o &

fIT FHomeAs® 3% 8T &1/ THERE WILL BE A TOTAL OF SIXTY QUESTIONS.

CARRYING ONE MARK EACH. THERE WILL NOT BE ANY MINUS MARKS FOR
WRONG ANSWERS.

FeAfddt 1 MTANR e # T 70 Rt F IFER Fad afd 9 9=
GINT 3R M & FAUT 3MBHER F Hl FX T 3eck  IoAa g
CANDIDATES HAVE TO SELECT THE CORRECT ANSWER BY DARKENING THE

CORRESPONDING OVALIN THE ANSWER SHEET BY BALL POINT PEN ONLY AS
PER INSTRUCTION IN THE OMR SHEET.

6. TUET & dg, sIHA T NuANR ofie, WA 9T gUT g qRedehT TAdETH

FT GO FAT sﬁ?ﬁ_i/AFTER THE EXAMINATION, CANDIDATES SHOULD HAND
OVER OMR SHEET, ADMIT CARD AND QUESTION BOOKLET TO INVIGILATORS.

e}

n

S5k ok ok ok ok ok ok ok ok



QUESTION
BOOKLET
CODE

LIQUID PROPULSION SYSTEMS CENTRE
faeaadyid Thiruvananthapuram
FradE T % wIa & fow fofld ola
WRITTEN TEST FOR THE SELECTION OF FIREMAN ‘A

g odet & arﬁ@ Date of Written Test: 01.06.2013
el 3¥F Max. Marks: 60 e 3rafd Duration of Test: THr. 30 Ms.

1. a, b, cad sE A FHATTIHS B GRAT BT

The perimeter of a parallelogram with sides a, b, cand d is

(a)ax b xicxd (b)a+b+ctd fclield A o+ + d)
(d) 2(axbxcxd)

2: Eﬁﬁﬁﬂwmﬂﬂa@ﬁmﬁmﬂﬁm

Which of the following inert gas is not present in air

(a)fpcera Crypton (b) faaE Neon
(c) TBI Radon (d) ST Xenon
3. # AU & GE..... H & '‘Global Warming' is related o
(a) 3fTfFasta Oxygen (b) @Barsia Hydrogen
(c) ArEera Nitrogen (d) wreet sTE3iEETes Carbon dioxide

4, LPSC' A areud & ‘LPSC' stands for

) Liquid Propulsion and Scientific Centre
) Liquid Propulsion Systems Centre

) Liquid Propulsion and Satellite Centre
)

a
b
c
d) Liquid Propellant Systems Centre

(
(
(
(
5. WW@WWQWW@WW

Identify a flammable gas from the following list

a)EEeSa Hydrogen  (b) 3iTidaste Oxygen '
(c) ATsers Nitrogen  (d) &Ted srs3TerETSs Carbon dioxide



B e

: 2
TF g # SRar & F=ifF Ice floats in water, because ‘ \

a) IE 3 & Itis solid

| T5 oo @ samer efiad § Itis colder than water

c)a% @1 gAcT ST d HA & Density of ice is less than water
d) s Tdca STl ¥ 4@l § It is denser than water

Sor 7 e @ Rwar JEFET $ O dred widl

Which property of water is benefiting fire fighting 2

(a) 3=a Teed@ High density (b) 3=a fearies High freezing point
(c) 3=a U8 a&ra High surface tension(d) 3=d @a=ia High boiing point
Peafard # ¥ # o & gg 78 ¥

Which of the following is not a unit of pressure ¢

(a) Kg/cm? (b) Kg/Sec (c) Pascal (d) Bar 1

Srafafag & § ol 3Fmma & e 3fe g=er 3§ dw S ©
Among the following which is widely used for fire fighting ¢

(o) @ AAFESs Carbon monoxide

(b) e TE3iTFaSe Carbon dioxide

(c) ATSeISTe NiTrogen

(d) 3ffFasta Oxygen

PSLY F aTedd & PSLY’ stands for

(a) Propulsion and Satellite Launch Vehicle
(b) Polar Satellite Launch Vehicle

(c) Planar Satellite Launch Vehicle

(d) Popular Satellite Launch Vehicle

s

W*mm%ﬁﬁmmwmmﬁmm%
Which is the equipment used for measuring Atmospheric pressure ¢
(a) drecdeX Voltmeter

(b) Iredadex  Galvanometer

(c) SRR Barometer

(d) AT Thermometer

- eafefaa # @ ®i9 3fea i ad @

Which of the following is not an inert gas 2
(o) #Ifergd  Helium (b) ST Xenon
(c) 3 Neon (d) #@ersla Hydrogen
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7.

3
TIRTS dol & Gdca Density of coconut oil is

(a) ST & RTER EAT ® Same as water
(o) STer & & &BIaT & Less than water
(c) STer & 3F1¥® BT & More than water
(d) ST & AT 81T & Double than water

o @ierar & Water boils at
(a) 212°F (b) 100°F (c) 32°F (d) 108°F

S T SFTH AT & Al SHAT AT
When water freezes, its volume

(a)Eedr & Decreases (o) 9T & increases
(c) ®% gRada a8 No change
(d) 10% & B ST & becomes less by 10%

T el o A AR T & One litre of water weighs
(a) 1000 gms (b) 1200 gms (c} 700 gms (d) 800 gms

U‘cﬁﬁludcm{ Cafe foT@eT 3R 12m x 8m & 38% v fhaa @ & G

P HTIIHRAT BT

Find out the length of the fencing needed for a rectangular plot of size
12m x 8m

(a) 96 m (b) 48 m (c) 40m (d) 20m

HifFaera & [RAT AT AT & Oxygen is represented as
(a) O (b) O3 (c) Oz (d) OH

UF 3T ES #eme 0.001 mm A1 1000 mm § @ Th AR IJEa [SEdH
AT 0.5 mmIAT 2 mm¥E "

One rectangle with sides 0.001 mm and 1000 mm and another rectangle
with sides 0.5 mm and 2 mm has

(0)3Th 3TeT9T &TA%e dUT 37 URAT &
Different area and different perimefter

(o) 3 3T69T &T%hel JUT FAT TRATT §
Different area and same perimeter

(C)3Teh TATA &ITthel TAT HHA TRATT &
Same area and same perimeter

(d)3Teh THATT &YThe AT 3T TRATT &

Same area and different perimeter
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6cm TATE & T el DT HAFA BT
Volume of a sphere with diameter 6cmis

()288TTcm® (o] 144TIcm®  (c] 36TIem®  (d) 8%4Tlcm’

scm @UT 12cm TOTE aTet TN & 3T Bl 3T
Volumes of two hemispheres with diameters 6cm and 12cm are in the ratio

(@) 1:6 (b) 1:8 (c) 1:9 (d) 1:12

aﬁmmmmwm%mm%ﬁmmmm%

I the diameter of a sphere is doubled, the volume increcases by

(a) 29T times (o) 4 AT times
(c) 8 IET times ~ (d) 67T times

If Rl gaTy @ EET 125 cm?® ¥ Y SHE Ucdd T Bl

If the volume of cuboid is 125 cm?, then its each side is

(@) 5 mm (b) 50 mm (c) 500 mm (d) 25 mm

LPG%@W%WWZﬁWHHIEﬁH{«M@?ﬁ%

LPG requires following quantity of air for the complete combustion

(@) U 3FAS @1 20 AT 20 fimes its volume
(b) 370el 3MIdT & 30 AT 30 fimes its volume
(c) 31Ua 3mgad &l 40 IET 40 fimes ifs volume
(d) 3T 3TIA @ 50 T 50 times ifs volume

ﬂaﬁaﬂaﬁmgamaﬁrmqmwpsi%@m%lmm%ﬁﬁmm

Air pressure in an automobile tyre reads 32 psi in the gauge. The absolute
pressure in the tyre is

(a) 32 psi (b) 33.7 psi (c) -46.7 psi (d) 76 psi

THE BT @ Gae S & e 3R e & ATIaA B AT gn

Ratio of volumes of a sphere and a cylinder of same radius and same
height is

() 1:2 (o) 2:3 (c) 3:2 (d) 2:1



i/

28.

2%

30.

32.

33.

34.

5
15ﬁ.x12ﬁaswmﬁwﬁﬁmﬁmm%lmmawwm

2ft. x2ft. % a1 foraar eIz & 3maegear @l 2

Flooring is to be dorie in a room of size 15 ft. x 12 How many tiles are
required if the size of each tile is 2 ft. x 2 ft, 2

(a) 920 Nos. (b) 40 Nos. (c) 45 Nos. (d) 180 Nos.

8m M JAT 10m Far$ & delel &l HTITT Bl
Volume of a cylinder with diameter 8m and height 10m is

(a) 160 mTm? (b) 80 m™m? (c) 640 mm? (d) 320 Tm?
Uk gd &l URATT & Perimeter of a circle is
(a)2nd (b) md W) e (d) varr r?

Tdh Ml &1 g8 &19%eT & Surface area of g sphere is

(a)2mr? (b) 4mr? (C) ¢/smr3 (d) 3/am 13

LPG & ¥d: Saeie du#TeT . ... .. & I grar ¥

Auto ignition temperature of LPG is within

()220 - 230° C (b) 310-400°C (c) 410-580°C

(d) 620-800° C

Fa8 W d vyt W argwsd gm wad agw AL glar &
Atmospheric pressure at elevated placeis ....... ..v.. ... at sea level

(a) ST greater than (b) &H less than

(c) AT same as (d) a1 Sa1eT twice higher than

3mm,2mﬁaéam2mm$mﬁwmézﬁﬁmﬁ
3T 8T ¥ T F arelt & 3maae ¥

A rectangular tank of size 3m length, 2m width and 2m height is half filled
with water. The volume of water in the tank is

(@) 6m? (b} I 2m?® (c} 24'm?® (d) 8 md

T RS FIEHT 39R 16 cm @ 918 12 cm¥, @7 ame @

Area of a triangle with base 16 cm and height 12 cm is

(a) 48 cm? (B 192 em? (c] 96 cm? (d) 28 cm?
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A F Ue M F M & A oA a6l Th AP I TN I AP o

Wax in the shape of a Sphere is made into a Cone of same radius (r) of the
sphere. Then the height (h) of the cone is
(@) h=4r (b) h=2r (c) h=r (d) h=r?

Ueh dolellh Tl Tt <ard 2 m & aUT fEdT qul &TAAT 22,000 ol §
SR Y S Reael gl |

If a cylindrical water tank having full capacity of 22,000 Itrs., with a diamete
of 2m. Then the height of the tank is

(@) 12M (b) 7M (c) 9M (d) 4M

'a’ oSt arel aaf @ faeeT g
The diagonal of a square with side ‘a’ is
fa). a? o2 (6] . 26 (d) 4a

ATT THATT AT ST &
Human blood pressure is measured in

(a) -kg/mm? (b) psi
(c) mm of mercury(4rRT) (d) grFhd pascal
Sl Water :

(a) T FUBT ga ¥ is a compressible liquid

(b) T 3T ga & is an incompressible liquid

(C) 3T TG & 12% WU & is compressible up to 12% of ifs volume
(d) 39 adeT & 3R # TNRT fFar S Twar § ad I8 8ar &

Can be compressed to the shape of the vessel, it contains

T HHAG S # Al PIOT B ©
In an equilateral friangle, the three angles are.
(a) -60°, 30° and 90° (b}~ 45°%90% and 45"
(c)-602-60°and 60° (d}  40° 100°.and-40°

qIgFHSH H ATSCrole Y AT B gfavrd ¥
The percentage of Nitrogen content in atmosphere is

(a) 78% (b} 21%  [c) 28% (d) 64%
W YT ATTA BAT & Absolute zero temperature is

@l 0%k (BE39F - . [e] 27315 C fal: <27345°C
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oIfther 319 1 B A Fea ¥ ‘Laughing Gas’ is
(a) aEgsa Nitrogen ~ (b) arEfesd 3FaEs Nitric oxide

(c) AT$ECH HrerdTSs Nitrous oxide (d)aTsersta sT33iTaRITss Nitrogen dioxide

STl &1 AT T Chemiccl formula for water is
(a) H:O (b} HO (c) H202 (d) HO2

3 FF B SYA A OF AUAE B 0C F qgelm S ¥

Temperature in °F is converted in to °C using the formula

(@) (OF x 5/5) =32 . (o) [oFx é/s) —32
(C) (°F —=32) x 9/s (d) (°F = 32) x5/5

'PH' @ & areud ¥, ag Agar §
what do you mean by ‘pH'2 |t measures

(a) FT3gIST= &1 Ui Percentage of Hydrogen

(b) 3rFeliadr a1 amriar fr Bl Degree of acidity or alkalinity
(c) B WreR Horse power

(d) 3ragior & Baft Degree of precipitation

‘pH’éﬁaTqaéﬁﬁtrﬁmﬁf@aﬁﬁa?mmaWWHﬁ%

Which of the following statement is not true for ‘pH’ measurement 2

(Q)pH T AT 0 & 14 & drg & ¥ pH value ranges from 0 to 14

(b)pHATT 0 311U 3rFelTaT R@mar & pH value of ‘0" indicates very acidic

cmmﬁmmmmmwmwaﬁmﬂa
HiF g

Higher the hydrogen lon concentration, higher is the pH value In the
scale.

(d)3eTliT fae@= &1 pH A 7 89 pH value of neutral solution is 7.

e afe & ake affe o fige vae

During short circuit, the electric current in the circuit
(a) 98T ®H & T & reduces substantially

(b) uRafdd && &1  does not change

(c) FReR agerar w@ar & vary continuously

(d)

(d) ISP g5 Frar § increases heavily
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'CNG' & arcud & ‘CNG’ stands for

(a) Combustible Natural Gas (b) Compressible Natural Gas
(c) Compressed Natural Gas (d) Corrosive Natural Gas

wmwﬁaamﬁaaﬁo,bawc%,mmaﬁrmmﬁ
In aright angled triangle with sides a, b and c, the length
of the hypotenuse is

(@) V(az+c? (b) a2+ 2 (c) a+c (d) Ya++c

SeATRNYT ufafrar a5 et ¥ e Endothermic reaction is one in which

(b) AT Yer 21T & Heat is produced

(b) ZsAT MM &1t & Heat is absorbed

(C) AT FAA el e & Heat is maintained same

(d) 3HfIer sr@or der @1 ¥ Insoluble salfs are produced.

ﬁs;ﬁﬁgé?awmamaﬂwasﬁmaaﬁaﬁfﬁ%

Ratio of mass and voiume of g body is termed as

(a) faftre s=ea Specific gravity (b) ARIT 3raa=r Specific volume
(c) lofre gegerma Specific mass (d) gfea Density

Se & fov Peafafeg # @ ot @ o a9

Which of the following is not true for ‘water’

(a) T& e 3R TUdT § 1t is colourless and odourless
(o) DT FaYUATH 100°C § its boiling pointis 100 ° C
(c) IF AT §U & TARh Hurds & ¥

It is not a thermally stable compound
(d) Te dca & Hofr sravamat & urr Srar &

It exists in all three states of matter

'S NS waT & ‘Dryice’ is
(a)u=itad Ster Solidified water(b) Tl 3 ATAAT Solid ammonia
(c) 3 IRAT Solid Urea (d) a1 1T sTg3iTRaTEs Solid carbon dioxic

'PC' & #ay & RefafRa & g &7 o el d8F & Which of the followig
is not true for ‘LPG’ ‘

(@) &a &0 & FHdHT YR B ST ¥ 1t is supplied in liquid form

(D) FHST HUAT TF 371G BT ¥ It has smell of its own

(C) ST T UFcT ST & 9T 31T BT B
The density of the liquid is almost half of water

(d) I& arg @ it 2xar & Itis heavier than air
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fAeafaf@a # @ fova gcal &1 aea e & o 3maeas &

Which of the following combination of elements are essential
for combustion

(a) $4=T, STer gam arg Fuel, water and air

(C)3UaT, FCAT TAT STA  Fuel, heat and water

(c) 3ud, 3iforasar @ar & Fuel, oxygen and heat
(d) 3TAT, arg dAT ST Heat, air and water

g dT UdTE & Electricity is the flow of

(a)urerd - Protons (b) gelereia Electrons
(c) #ggia Neutrons (d) 38 ¥ IS a8 None

90° ¥ ehHAATel DIVT H Hed & Angles less than 90° is called
(a) FTPIUT Acute angles (b) 31f¥epIOT Obtuse angles

(c) EHBIUT Right angles (d) e PIUT Supplementary angles

Us forex gar & One Litre s

(a) 100 Cubic m. (b) 100 Cubic cmes.
(c) 1000 Cubic m. (d) 1000 Cubic cms.

T FAfGETg ST H Anisosceles friangle has

(a) @ aITT FATT &I & Two sides equall

(b) el T A B & Three sides equal

(c) =T BIvT gAE 813 & Three angles equal

(d) & @ror 30° 3R 40° B & Two angles are 30° and 60°

BReEd



